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KINDLY READ THE INSTRUCTIONS BEFORE ATTEMPTING THIS QUESTION PAPER
IMPORTANT INSTRUCTIONS FOR THE CANDIDATES

1. Attempt all the questions. Every question has equal marks viz. 2.

2. Before attempting the question paper kindly check that this booklet has total 20 pages & OMR Answer sheet consists of three copies. At the start of
the examination and within first five minutes, candidates are advised to ensure that all pages of your test booklet & OMR/Answer Sheet are properly
printed and test booklet is not damaged in any manner. Serial No. of OMR Sheet and Test Booklet match with each other. In case of any discrepancy
the candidate should immediately report the matter to the invigilator for replacement of test booklet & OMR/Answer Sheet. No claim in this regard
will be entertained after five minutes of start of examination.

3. Do not forget to write your roll number on the top of this question booklet & OMR/Answer Sheet.

Do not tear or fold any page of the question booklet and OMR/Answer Sheet.

Candidate must bring legibly printed Admit Card with recent coloured photo pasted on it at mark B duly attested by Gazetted Officer and one
identity proof with photo like Driving License, Voter Card, Aadhar Card, Passport etc. at the Examination Centre failing which candidate will not
be allowed to enter in the Examination Centre.

6.  Candidates are advised to make sure to fill the correct name, Roll No. & Q. booklet No. on the OMR Answer Sheet. If the space for the Q. Booklet
No. is left blank or more than one Q. Booklet No. is indicated therein and non-filling of name and roll no. as per instruction, it will be deemed to be
an incorrect Q. Booklet No. & Answer Sheet will not be evaluated. The candidate himself/herself will be solely responsible for all the consequences
arising out of any error or omission in writing the Q. Booklet No. Candidate shall put his/her LTI (Male) and RTI (Female) on attendance sheet, on
the OMR/Answer Sheet and on the Biometric Machine along with signature.

7. Candidate should put his/her signature and thumb impression on the Admit Card attwo places in the presence of Invigilator in the Examination
Hall.

8. Candidates are warned not to fold or make any stray marks on the OMR Answer Sheet. Use of Eraser, Nail, Blade, White Fluid/Whitener
ete, to smudge, scratch or damage in any manner on the OMR Sheet during Examination is strictly prohibited. Candidature/OMR Sheet of
candidates using Eraser. Blade, Nail or White Fluids/Whitener to smudge, scratch or damage in any manner the Answer Sheet shall be
cancelled.

9.  Candidates are warned not to carry handkerchief, any mobile phone, any type of watch, belt, wear ornaments like ring, chain, earring etc., electronic
or communication device, Pen, Pencil, Eraser, Sharpner and correcting Fluid in the examination centre. If any candidate is found possessing any
such item, he/she will not be allowed to enter in the examination centre. Candidate found possessing mobile phone and any other aiding material as
mentioned above in the examination room will be treated a serious violation and it will amount to cancellation of the candidature and debarring
him/her from future examination. Use of Eraser, nail, blade, white fluid/whitener etc., smudging, scratching or damaging in any manner the OMR
answer sheet shall lead to cancellation of candidature and such OMR answer sheet shall not be evaluated.

10. The written examination will be supervised by doing frisking before allowing entry into Examination Centre, using CCTV Cameras, Biometric
Attendance process by capturing the Biometric thumb impression and Photograph of the candidates during Examination, Videography and Jammers
etc. shall be used in the Examination Hall/Examination Centre to stop copying and impersonation etc.

11. Candidate's request to change the examination centre and seat in the Examination Hall shall not be entertained.

12. The scanned photograph of the candidate on his/her Admit Card or attendance sheet will be tallied with the candidate appearing in the examination
by the invigilator. In the event of any discrepancy in the identification and verification of the candidate and photographs, the candidate shall not be
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allowed to sit in the examination and be liable for criminal prosecution.

13. The OMR answer sheet consists of three copies, the original copy, the commission copy and the candidate’s copy. Do not separate or displace them.
Do not darken the bubbles in three copies of OMR sheets separately. Candidate must handover the OMR Sheet without separating the three copies
to the invigilator at the end of examination. Invigilator will hand over the candidate’s copy after separating it. The candidates are allowed to take
away this Test Booklet with them.

14, Each question has four alternative answer of which only one is correct. For each question, darken only one circle, which ever you think is the
correct answer on the OMR answer sheet with only Blue/Black Ball Pen provided by the Commission. Pencil should not be used for darkening
the circle. If more than one circle is found darkened, that answer will not be evaluated.

15. No candidate shall be allowed to go to the toilet/washroom during first and last thirty minutes of the examination.

16. No candidate will be allowed to leave the OMR sheet blank. If any OMR sheet is found blank, it shall be crossed by the invigilator with his/her
signature and mentioning "Cancelled" on it.

17. Your answer sheet will be evaluated through electronic scanning process. Incomplete or incorrect entries may render your answer sheet invalid.

18. Carefully fill in all the necessary particulars on the answer sheet. Change of answer sheet is not permitted.

19.  While darkening the appropriate bubble(s) in the boxes darken the chosen bubble(s) fully as given below. If you darken more than one circle, your
answer will be treated as wrong and such answer shall not be evaluated.

CORRECT METHOD / 71 778t WRONG METHODS /7195 #ii
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20. If a candidate does not comply with the instructions as mentioned above or creates any kind of indiscipline. the Commission shall take action as per
instructions and in addition can also debar the candidate from appearing in the Examination, to be held in future and can also file criminal
proceedings.
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Which Indian player has won the silver medal T Badmintbiin'Rié ONmpic 20167
(A) Sakshi Malik (B) Sunil Narayan

(C) Saina Nehwal (D) PV. Sindhu

& ARA f@endr & §=ffies 7 Rio (R 3e@s 2016 7 W 9e& Siar &7

(A) @l Afos (B) gioer ARrZor

(C) AT =garer (D) & fy

HDI stands for

(A) Health Department of India (B) Human Development Index
(C) Human Development Institute (D) Health Development Institute

HDI T T R § 7

(A) Health Department of India (B) Human Development Index
(C) Human Development Institute (D) Health Development Institute

Who has won The Man Booker Prize of 20167

(A) Amitav Ghosh (B) Paul Beatty
(C) Chetan Bhagat (D) Nadeem Aslam
2016 &7 Fel g EHR fohdted i & 2

(A) 3fHara o (B) ey acdr

(C) ATt T (D) S IHAH

Iindia is situated north of the equator between
(A) 8°4'to37°6' (B) 10°4't025°6'
(C) 11°4'to57°¢6' (D)5°4't0 27 ° 6'

IR STACIEN ¥ 3a¥ 19T H ot 3rewell & dwr & Pua g 2
(A) 8°4' ¥ 37°6' (B) 10°4' ¥ 25°6'
(€) 11°4 ¥ 57°6 (D) 5°4' F 27°6

Which state has launched Lakshya Bhagirathi Campaign ?
(A) Gujarat (B) Odisha

(C) Chhattisgarh (D) Arunachal Pradesh

e T & o IR 3T A YT H & ?
(A) ToRIT (B) 3nf2em

(C) =wee (D) 37FUTIT Teer
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The Indian Medical Council (Amendmeént) Bill 2016 isTtoAcerned With’

(A) Provide medical education in state languages

(B) Uniform entrance examination for admission to all medical education institutes
(€) Licence of Medical shops

(D) None of these

R Rifehcar IRug (Five) g 2016 fFad @efea & 2
(A) T & a3t 7 Rfehcar R8T ves &6 |

(B) msh Rfecar Rer geu=t & i@ F AT traaeT vaer e
(€) RfFcar gFa F Jgdd
(D) So09T & FIS Far

Arrange the words given below in a meaningful sequence:

(a) Elephant

(b) Whale

(c) Dog

(d) Tiger

(A) (b), (a), (d), (c) (B) (a), (b), (d), (c)

(€) (b), (c), (d), (a) (D) (d), (a), (b), (c)

AR faw 91w ereet A 3QYT A H gafRua G
(@) @
(b) &
(€  Far

d &9
(A) (b), (@), @), (© (B) (a), (b), (d), (c)

(© (b), (¢), (@), (a) (D) (d), (a), (b), (c)

Find the missing term.
1125297
(A) 870 (B) 866

(C) 588 (D) 576

I 9g AT AfST |
1125297
(A) 870 (B) 866

(C) 588 (D) 576
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9.

10.

10.

1.

1.

12.

12.

P

Which cube matches the given?

(A) @

() E’ﬂ

PR

FTTeIRTIC T AT @A E ?

(A) @
() @

If SIDE=26-16-11-12 then ROLE=?
(A) 24-22-18-12

(C) 25-22-18-12

fg SIDE=26-16-11-12 @ ROLE=?
(A) 24-22-18-12

(C) 25-22-18-12

Complete the series.
6, 8,12, 20, 36,?
(A) 66

(C) 63

So7 T BT |
6, 8, 12, 20, 36,?
(A) 66

(€) 63

If A={3,4,5}, B={5,6} and C={6,7,8}, find n[ Ax (B ~ C)]

(A) 5
(€) a

(B)

(D) hoﬂ

(8)

%
&

(D)

(B) 25-22-19-12
(D) 24-23-19-12

(B) 25-22-19-12
(D) 24-23-19-12

(B) 58
(D) 68

(B) 58
(D) 68

(B) 3
(D) 2

afe A={3,4,5}, B={5,6) 3R C={6,7,8}, @ n[ A « (B ~ C)] 7id HfAT |

(A) 5
(€) 4

(B8) 3
(D) 2
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13.

13.

14.

14.

15.

15.

16.

186.

The largest 4 digit number exactly divisiblé 5y 88 is: **

(A) 9944 (B) 9768
(C) 9988 (D) 8888
88 ¥ QU aeToT Hedy a3 IR (4) 3R H FEA ¥
(A) 9944 (B) 9768
(C) 9988 (D) 8888
CQuestion Id : 13
The product of two numbers is 4107. If the H.C.F. of these numbers is 37, then the greater number is
(A) 101 (B) 107
(€) 111 (D) 185
& FEE 7 UESA 4107 § | A 3T HEARH W AgaH FAGA 37 @, o @9 §E §
(A) 101 (B) 107
€ 111 (D) 185

The difference between the length and breadth of a rectangle is 23 m. If its perimeter is 206 m, then its area is
(A) 1520 2 (B) 2420 y?

(C) 2480 m? (D) 2520 m?

Queston id : 15

U H  oJels U iz 7 23 m & HeeK ¢ | IS 39h aRfS 206 m &, & 38 &%t g9
(A) 1520m? (B) 2420m?

(C) 2480m? (D) 2520m?

Question Id : 15
It takes eight hours for a 600 km journey, if 120 km is done by train and the rest by car. It takes 20 minutes more, if
200 km is done by train and the rest by car. The ratio of the speed of the train to that of the car is:
(A) 2:3 (B) 3:2
(C) 3:4 (D) 4:3

Question Id : 16

600 fFelr & T &7 8 €U I g, AfG 120 fohel &7 & o a1 & I R F aF fhar sw | 3fe 200
ey &7 & aur O 1 O FR A R R 20 Peae HfUw oo § | 3 & afy owR & afy F e
5

(A) 2:3 (8) 3:2

(€) 34 (D) 4:3

Queston id : 16
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17-

17.

18.

18.

19.

19.

20.

20.

The age of father 10 years ago was thriceé tfie age ot his son. Térvyearshence, father's age will be twice that of his
son. The ratio of their present ages is

(A) 5:2 (B) 7:3

(€) 9:2 (D) 13:4

10 a gger T & 3 39 937 {3 ot o | TgT § 10 Y w1, Aar & g 97 & 3G F g gl |
I AR 3 H I

(A) 5:2 (8) 7.3

(€) 9:2 (D) 13:4

In a regular week, there are 5 working days and for each day, the working hours are 8. A man gets X 2.40 per hour
for regular work and X 3.20 per hour for overtime. If he earns X 432 in 4 weeks, then how many hours does he
work for?

(A) 160 (B) 175
(C) 180 (D) 195

Queston id : 18

s AT geag & 5 F o § 9w s R F Qv &1 g5y 8 gue § | s =aFa # RafRg &
& fow T 240 9 gver aar Aa-asd § o T 3.20 9fa guer wed @iar & | IS ag 4 g%l & T 432 ured
AT &, aF 381 fohder gue FH &ar gem ?

(A) 160 (8) 175

(C) 180 (D) 195

Question Id : 18
Electrolysis of water produces hydrogen and oxygen in the ratio
(A) 1:2 (B) 1:3
€ 2:1 (D)3:1

Cueston id : 18

T &7 Taga-HIues R 36T # gesiee 3R o & 3ces Fl § ?

(A) 1:2 B) 1:3
€ 2:1 (D) 3:1
Which gas is generally liberated when acid reacts with metal?
(A) CO (8) co,
(€) No, (D) H,
Queston id : 20
Sig of@E urg & Ty RN a1 § a9 AT FiaT @ 3G o @ g ?
(A) CO (B) co,
() No, (D) H,
Question id : 20
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21.

21,

22.

23.

23.

24,

24,

Digestion of food in human starts from ° - -
(A) duodenum (B) small intestine

(C) mouth (D) large intestine

HIa 7 $iSieT 1 el gl § YT A & ?

(A) Fgol (B) B I

(© F (D) & i

Which part of plant involves in Translocation?

(A) Phloem (B) Xylem

(C) Cortex (D) Pith

oty &1 et a1 feemr TIaReT 7 afd ¥ 2

(A) woer (B) SEerH

(C) =éFq (D) FSaT

When a ray of light enters a transparent medium it undergoes change, it is

(A) Frequency only (B) Wavelength only

(C) Wavelength and velocity both (D) Velocity and frequency both

Sid gereT & fRvoT aReRlt AregHE #F gavr A § A 369 Seella/IRade Tl § | 98 AT § 7
(A) aer R (B) gel T

(€) TR 3R &1 At () &7 3R 3Ry A

The magnification of an object placed 10 cm from a convex mirror of radius of curvature 20 cm will be
(A) 0.2 (B) 0.5

(€)1 (D) infinity

Teh a&q 20 o gkl S arer 3aer a9or & 10 dlr ¥ W@ 9 § A IHH e gom
(A) 0.2 (B) 0.5

€ 1 (D) ¥aed

Downloaded from www.cclchapter.com

Queston id : 21

CQuestion Id : 21

Question id : 22

Question Id : 22

Queston Id : 23

Question Id : 23

Queston Id : 24

Cueston id : 24

Page: 7



25,

26.

27.

28.

29.

Pick up the word from the choices which is close to opposite (antonym) to word asked :
Swell
(A) Strange (B) Diminish

(C) Sympathy (D) Enlarge
Pick the word from the choices which is close to similar (synonym) to word asked :

Shallow
(A) silly (B) Abtute

(C) Superficial (D) Soft

Pick one word for the following expression :
A professional rider in horse races
(A) Joey (B) Jargon

(€) Jockey (D) Junta

Choose the alternative which best expresses the meaning of underlined idiom/phrase.

The old father brought home the moral of unity by asking each of his sons to break the bundle of sticks.

(A) Voiced (B) Declared
(€) Emphasised (D) Suggested
Let's play volleyball.

(Fill in the blank)

(A) no article (B) the

(€) a (D) an
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30

31.

32.

33.

35.

= "

J F]

Ry smr

. THSER: s H gHTAS QI8 &

(A) % & fav W (B) g #H =W
(C) WS F W (D) TS IR =W
HPR: Ueg F oA &

(A) foREaT (B) 3ugR

(C) 3w (D) fer
JOER e H 39T §

(A) 37 (8) fa

(C) 3 (D) 3T

Fe & g # R - denifera & 3 ¥
(A) $e ¥ 3¢ & a=d g

(C) YT =T

g Toid & - o A1 aeT §

(A) Zerm ST Sw |

(C) 319 T JT |

S 69 F AT § - TR F AT U e ¥
(A) F&=1
(C) JAHFR

Downloaded from www.cclchapter.com

(B) Fe & SR &=
(D) s <her

(B) ol d & |
(D) 3pT Tad & |
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(D) FArar

Question id ; 30

Questionid : 31

Questiond : 32

Question id : 33

Questonid : 34

Question id : 36

Page: 9



36.

36.

3r7.

37.

38.

38.

39.

39.

Which state of India bagged the Best HomtiEuture State dward 7™
(A) Haryana (B) Odisha

(C) Rajasthan (D) Gujarat

S Blicho VE F [EHR XA F fohg T &1 Fom?
(A) gRarmoT (B) 3fifeRmr

(C) I5EA=T (D) IERIA

In which of the following division of Haryana most districts are there?

(A) Ambala (B) Gurgaon

(C) Rohtak (D) None of these
gRaT ¥ fFg Fsa & wdfos o 82

(A) 3fareT (B) I3l

(C) gaw (D) &7 & FS g
Who is the Home Minister of Haryana?

(A) Ramvilas Sharma (B) Captain Abhimanyu
(C) Manohar Lal Khattar (D) Rao Narvir Singh
gRawT &1 7g HAr FeT 57

(A) gHfIeE QAT (B) Seeet HfAH~g
() FARR T WX (D) T FER g
Who is the present Chief Justice of Punjab and Haryana High Court?

(A) Sanjay Kishan Kaul (B) A.K. Sikari

(C) Jasbir Singh (D) S.J. Vazifdar

datier 3R gRAT 350 RIAe F adde HEd SRIERT Hi §?

(A) Fo/T e FiT (B) u¥. A=l
(€) SweR g (D) TH.3. afTwReR
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40.

40.

1.

41.

42.

42.

43.

43

Match the lists and choose which of the follswing' dptionis correet? -

List-I List-11
1. Rakhigarhi a. Regal Crown
2. Kunal b. Ploughed Fields
3. Banawali c. Largest Indus valley site
(A) 1-b, 2-3, 3¢ (B) 1-c, 2-a,3-b
(€) 1-a, 2-b, 3¢ (D) 1, 2-b, 3-a

gt & et X AR e 1 & 19 Rees & 99a ffow

e T
1. TEeTer a. are FEA
2. FoTd b. T g3 lilH
3. Selger c W s=r Ry wd v
(A) 1-b, 2-a, 3¢ (B) 1, 2-a, 3-b
(€) 1-a, 2-b, 3¢ (D) 1, 2-b, 3-a
Sufi Saint Boo Ali Shah Kalandar was born at
(A) Panipat (B) Thaneswar

(C) Hansi (D) Kaithal

A T § 3l A Fole F Sed G A

(A) =T (B) orRay
(C) g (D) e
Where is Bhima Devi Temple Complex situated?

(A) Kurukshetra (B) Hisar
(€) Pinjore (D) Rohtak
(A) e ®) e
() &R (D) qgas
Chhilchhila Wildlife Sanctuary is located in which district?

(A) Kurukshetra (B) Ambala
(€) Gurgaon (D) Hisar
fSafSer g Siig 37aRvY e Ser 7 d 87

(A) Fem (B) 3faTem
(€) 3;331‘1'?:[ (D) fgar
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45.

45.

46.

46.

47.

47.

48.

48.

. Which city was renamed after “Guru Di’bﬁ%‘a’f\;é{'l?

(A) Ambala
(C) Kurukshetra

.iﬂ?ﬁﬂlﬂlﬂ‘*ﬂlﬂﬂﬁ?ﬂﬂmﬂﬂgﬂ:ww

(A) e
(€) Fwar

(B) Gurgaon
(D) Sonipat

(B) Ipzaiia
(D) @ETT

Who is the most popular Ragini Singer of Haryana, also known as ‘Surya Kavi'?

(A) Pt. Lakhmi Chand
(€) Manish Joshi Bismil

gRAOT & Faifts yffey IR T Bl §, Tt G 1T F AH F o S0 S g7

(A) 9. @ I
(€) Foi Sl _fETer

(B) Kishan Lal Bhat
(D) None of these

(B) fomRE & &IE

(D) 7 & A3 gt

Headquarters of Western Command of Indian Army is located at

(A) Hisar (B) Chandi Mandir
(€) Panipat (D) Ambala
AR T F R s & FEed Fud §

(A) R (8) =& AfR

(C) grfgaT (D) 37Fare

BILT Football stadium is situated at

(A) Kurukshetra (B) Sonipat

(C) Ambala (D) Yamunanagar
BILT el ®ef2as foud &

(A) FE (B) et

(C) 3mF=reT (D) THAFIR
Who is famous humorous poet of Haryana?

(A) Pt. Neki Ram

(€) Surender Sharma

gRamT & 9flicy R Hfa i g7
(A) 9. = IH

(©) g ool

(B) pt. Lakhmi Chand
(D) Pt. Shri Ram Sharma

(B) 9. 5@ I
(D) 9. Aws
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49.

48,

50.

50.

51.

51.

52.

52.

93.

83.

Who had set the Feudal League in Har*:ra!héy" -
(A) Sir Chhoturam (B) Neki Ram

(C) Pt. Sushil Sharma (D) None of these

ERAVT 3 RIS (STRERY) oeT i Far9eTr e H?

(A) wT BIEH (B) =¥ IH

(C) G, geher et (D) 3Tt & FE =

Which districts of Haryana are chief producers of Turmeric?

(A) Hisar and Rohtak (B) Ambala and Yamunanagar
(C) Panipat and Kurukshetra (D) None of these

gRAT # godl F WHE e TS

(A) RER g Jgcw (B) 3fFeTell & JHARRR

(€) Uelud g Feam (D) &1 & Fg gt

Bronze medal winner of Rio Olympics 2016 Sakshi Malik was born in which village of Rohtak?
(A) Mokhra (B) Bhansru

(C) Sudana (D) Siwana

Maﬁaﬁqﬂwzmaaﬁraﬁwwﬁéﬂmaﬁmaﬂmﬂm#ﬁmﬁaﬁ@nm

(A) #r@w (B) Hiw®

(C) gaw=T (D) fRawET

In the First Battle of Panipat Ibrahim Lodi fought against

(A) Akbar (B) Humayun
(C) Babur (D) Hemu
el ¥ 9UH oy # seifeH oidr e favey ofsr ar?

(A) e (B) gA

(©) &R (D) &
Famous singer Sonu Nigam was born in which district of Haryana?

(A) Ambala (B) Rohtak
(C) Kurukshetra (D) Faridabad
Sflcy e His 9 & S gRAnT & fave fier 7 g3

(A) 3F<Ter (B) Jgch
(€ Fwm (D) wiETEE
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54.

55.

55.

56.

56.

57.

57.

58.

58.

In which one of the following places Kalpans Chawla Wasg’born? 4~

(A) Karnal (B) panipat
(C) Faridabad (D) Gurgaon
Queston id : 54
. ol TGl H S frfeiad # ¥ e e W g3 A
(A) &Er (B) gmiga
(C) TS (D) ?Jl?;ﬂh
Question Id : 54
‘Vande Matram Yojana’ is associated with
(A) Soldiers (B) Farmers
(€) Women (D) Freedom Fighters
Cuestion Id : 55
Foe, FIRH A’ & HEY &
(A) Hfe=r & (8) framtr &
(©) wfemh & (D) e deE 2
Queston id : 55

During examination of the abdomen auscultation should be done prior to percussion and palpation because these

procedures may
(A) Alter the bowel sounds. (B) Alter the secretions of abdomen.

(C) Alter the distention. (D) Alter the presence of fluids.

Question id : 56

9¢ % GULOT F A IRHEoT 1 FF mara/aRaE- 3R oeada & gga fFar srer anfge =iife ag afssand

(A) 37T & IaeT ST & ¥ | (B) YT % Fig Seof &N & |
(C) ¥elig & acel & & (D) e gerdy & 3ufeAfa & seena el g
Quesbon id : 56
The one of the side-effects of anti-biotics which may cause the malabsorption syndrome is
(A) Changing the normal food intake. (B) Changing the normal flora of the intestine.
(C) Changing the normal intake of fluid. (D) Changing the normal structure of the intestine.
Question Id : 57
UfFeardifees & Fld T o HAGRNTOT He&ToT H FRUT &l Tehell &7
(A) FHAT SIS YaeT T AT Sl (B) 31l & WHT FoIRT scolch ¥ |
(C) o 9 & {aaT H AET deolell (D) g & WA T Seolal & |
Question Id : 57
During the tonic clonic seizures the tonic phase is characterized by
(A) stiffening of the body (B) Jerking of the extremities
(C) Loosing consciousness (D) Confusion
Question id : 58
Afs Felifas HfRagor & Sl AfAs TroT & =1 Fegor g2
(A) R 31FE ST €l (B) STETMT W FAcHaA
(C) <qar @ar (D) & & =fa
Queston id : 58
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59.

89.

60.

60.

61.

61.

62.

62.

63.

63.

The classic manifestations of the Parkinsonk disease e »
(A) irritability, bradykinesia and seizures (B) irritability, bradykinesia and rigidity
(C) irritability, bradykinesia and tremor (D) tremor, bradykinesia and rigidity
Queston i :50
affreiet T T Iegee AT Pt W 87

(A) REfREns, A7 MR goa-ad: 3R 3PEEer  (B) ReRemE, A emiRs goa-gde 3R Farar
(€) RsREma, Fe MRS gola-g+ 3R F9a (D) Fu, #g YNRF Folel-dole], FARAT

Cuesbon id : 59
The point at which the nerve impulse is transmitted from one neuron to another is called as
(A) Glia (B) Myeline
(€) Nodes of Ranvier (D) Synapse

Cueston id 160
U fiig Sl & AR 39T U A AR ¥ gEdr dfe After F dwRor dar § 33 Fed 8 |
(A) Tl (8) FefoT
(C) FABR Hr 75 (D) R

Queston id : 60

The nurse should explain to the patient with ostomy that the blanching and dark red to purple colour of the stoma

may indicate
(A) visible stoma mucosa (B) Anemia
(C) Inadequate blood supply to the stoma or bowel (D) Obstruction to the stoma.

FDT ¥ W A A A T F6T TR B @A AT 3 T I O & W O WA
rgaT g%d 8?7

(A) TTHA HEF FJHIar (B) weAfHIr
(©) F@* T 3 F Idied T 39T (D) @ I amer
Cueston Id : 61
Out of the following, the clinical skin manifestation of the cirrhosis of liver is
(A) Palmer erythema (B) Face erythema
(C) Neck erythema (D) Shoulder erythema
Cueston Id : 62
fF A & #la @ AR F e & dafas o JfFcfEa g2
(A) gehT aafaaar (B) gdT AT
(C) T FRTFaAr (D) Ty caaiaaaT
Question Id : 62
A thin, smooth layer of fibrous membrane that protects the kidney is called as
(A) Cortex (B) Medulla
(C) Capsule (D) Bowman'’s capsule
Cueston Id : 63
Teh Geoll, WER Foll @ Rkl Tl 715 A1 @ el & 38 Fed Bl
(A) HicFg (B) H=am
(©) Foger (D) &FeT Fege
Cuesfon id : 63
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64.

65.

65.

66.

66.

67.

67.

If the patient with acute kidney injury receiving tne ACE ihATbitord, Thé Furse should cautiously monitor for
(A) Serum potassium level (B) Serum phosphate level

(C) Serum magnesium level (D) Serum copper level

(A) B PR TR (B) e Wit &R
(C) OA FFAREH TN (D) ¥RHA HR TN

The anaemia occurs in patients with chronic kidney disease due to
(A) Decreased plasma osmolality (B) Decreased plasma osmolarity

(C) Decreasd erythropoetin production (D) Decreased renin production

IE ¥ /T ARG F A e ao & dar 82
(A) "edr oA JifAreIfoer IB}azﬁrgéwrmafmaﬁa

(€) wear g3 eReidsfes Scest (D) A & 3cueeT H For

Question Id 164

. g & A IR e Fon I ACE HeHa/gaieicy ol & dd a4 @ Fauel ¥ g W FARe e
afge?

Queston id : 64

Question Id : 65

Queston i : 65

During the physical examination of the patient for endocrine system, diminished axillary and pubic hair may

indicates the problem of
(A) Cortisol deficiency (B) Hypothyroidism

(C) Hyperthyroidism (D) Hyperparathyroidism

Queston Id : 66

FTEEr ol F AT A9 F ARE qfewor F R F wewEdt 3R Fua 99 e gEE # 3@ a2

(A) e & FA (B) grEurRRIERsH
(C) gaRIRRERSH (D) grIoTRRIRIEESH
Queston d 66
Diabetes insipidus is caused by
(A) decreased production, secretion of thyroid hormone
(B) decreased production, secretion of insulin
(C) decreased production, secretion of parathyroid hormone
(D) decreased production, secretion of anti diuretic hormone
Questonld:67
FYNE SATATIsH TR FROT g §?
(A) UmRige gfler % Hd, Scdieet 7 (B) ggfee & @i, 3cueeT H Fr
(C) TWrURRIgS gl F H1E, 3cee H F0 (D) v SRR gl ¥ WiE, 3cqee H FHr
Quesson d 67
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68.

68.

69.

69.

70.

70.

1.

.

The spongy bones are called as
(A) Endosteum

(C) Cancellous

(B) Cortical
(D) Ostones

T giSsdl & a4 e 67

(A) 3dfedsFan (B) dec
(€ giw (D) 3=
A sprain may be defined by

(A) injury to bone
(B) injury to ligamentous structures surrounding a joint

(C) excessive streching of a muscle, its fascial sheeth or a tendon

(D) injury to joints

A & Fas garr aReTNa R ST e g2
(A) g=& 3 dic

(B) Ff&r & 37HUH &Y W=t & i
(C) RN & Fcafi [Tag, sHa e 3RS A F=1 |
(D) Ffer & @i

Spontaneous abortion is
(A) Natural loss of pregnancy before 20 weeks of gestation

(B) Natural loss of pregnancy after 28 weeks of gestation
(C) Loss of pregnancy due to medications before 20 weeks of gestation

(D) Natural loss of pregnancy after 22 weeks of gestation

AREad: T FT &7

(A) a1 % 20 Fecig Gt Tefiawar # WHfds e

(B) 3187 ¥ 28 |eclg & ale Ifiaer &1 Wil Sjehaltet

(C) T & 20 FecIE F Ygo! IBHGEA F G F FROT Fehded
(D) 13 ¥ 22 Fecg & & IHiaer H WFid

The genitourinary clinical manifestations of estrogen deficiency is
(A) Hot flushes (B) Urinary tract infection

(€) Atrophic vaginitis (D) Dilated cervix

TS & A f Feladoqd Aalfaieh AeafFadr Sia @ §2

(A) I gerdeT (B) ¥ HAIT F Fhe0T
() it Aferiy (D) el g ar
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Question Id ; 68

Queston Id : 69

Queston Id : 68

Question Id : 70

Queston id : 70

Cueston ki : 71

Cuesbon id : 71
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72.

72.

73.

73.

74.

74.

75.

75.

The National Rural Health Mission was [SUfiched by Goverim ént’of Mdfa on
(A) 7th April, 2005 (B) 12 th March, 2005

(C) 12 th April, 2005 (D) 12 th May, 2005

HRAT TR SaRT TS ARAI0T 6T AN &d Y& fomar arr?
(A) 7 31 2005 (B) 12 ART 2005

(C) 12 3% 2005 (D) 12 HE 2005

The responsibility of the nurse in primary nursing care model is
(A) Providing care to patient or group of patients for a period of time

(B) Providing care to patient or group of patients during assigned shift
(C) working as team leader

(D) assisting in work of team leader

grfRe AR 2w AleeT F a9 B e = g7
(A) 0 ar AT & Gog ' UF T A HE® &F AU q@e e H

(B) HI a1$ 9 & cieT Ao a1 AT 3 g W FeTol e |
(C) o & AT & §I H FH T
(D) S & a1 F F H TIANRT T |

According to Nightingale’s definition of Nursing, which of the following activity is nurse’s function?
(A) Providing the sponge bath to bed ridden patient.

(B) Providing antipyretic drug to the patient who has intermittent fever.
(C) Diagnosing the underlying pathophysiology of disease.

(D) Performing the lab tests of patients for cause of disease.

AT $ AT P IR ¥ IER At afafafEt & & @ @ a1 & F
(A) foearared W & T T Y9I F:6T)

(B) TR SR arer AT I SORARS &ar Yerd |

(C) @Y & Il dpad-a’R fhaicas e
(D) 3T &F FROT & AT AV F1 FHERMT TY&T0T F=AT

Gerontology nursing deals with

(A) Care of patient with genetic problems (B) Care of older adults

(C) Care of patients in community settings (D) Care of patients with terminal illness
SR (SRieeieie) Afaer fFasr geftia §?

(A) 37 FoEm arer ATt i q@sie (B) gaer aeh 1 qw@eTel

(C) FHer sgawr # AYS H ST (D) TS SERY arer AT Fr @I
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Question Id ; 72

Queston Id : 73

Queston id : 73

Question Id : 74

Queston Id : 74

CQueston Id : 75

Queston id : 75
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76.

76.

17.

77.

78.

78.

79.

79.

The regeneration during the healing process cari be defined s’ -
(A) Replacement of lost cells by connective tissue (B) Repiacement of |ost cells by mast cells

(C) Replacement of lost cells by same cells (D) Replacement of lost cells by white blood cells

Yeloietel I G1d IR T ishar & 2l e o aRena foar meam?
(A) TS 3k GarT AT @ I AR F gfarmeT

(B) FHREE IR ZaRT ar & Tehr FIRIASHT 1 FfceamaeT
(C) FHweT HRNA @R AT @ FH ARIFET F gfaeumsT
(D) <9 ToRT RS GaRT AT & JohT PRI Sfcere

The term autosome is defines as

(A) A chromosome that is not a sex chromosome (B) A chromosome that is sex chromosome
(C) All the DNA contained in an individual (D) The basic unit of hereditary information
HfeRRGT e Y srenfdd fRar ST 2

(A) T ToRgE i foler TomgE A4gT § (B) W JOREH St fofar umg B

(C) w3h DNA w aafda & gifor (D) SR ST N HEUR SHS

The cell mediated immunity is defined as
(A) Encounter of pathogen by B lymphocyte (B) Recognition of specific antigen by T cells

(C) Recognition of pathogens by neutrophills (D) Recognition of antigens by mast cells

I FAeTRar SioReT A F& aRenia fFar S g2
(A) B foFdrase garT Adsieh & @ HoHs (B) T R ganr faRise gidsis # ggare

(C) =gErfieH garT Aamupit & ggeT (D) AR RS AR TSt S Ggdie

Oncotic pressure is defines as
(A) Osmotic pressure caused by plasma colloids in solution

(B) Force within a fluid compartment
(C) Force outside the fluid compartment

(D) Osmotic pressure by electrolytes in cells

AAIes ara r aiseT
(A) B & T FEs 9 goig I Yo I WRROT a9

(B) TReT 9e1d F 1T F MR T
(C) R 9ed & 97 & T8 a9
(D) FIRNFHT H FolFINSC N dolg § TIEVT &
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Queston id : 76

Queston id : 77

Queston Id : 77

Queston id . 78

CQueston Id : 78

Question id : 78

Queston id : 78
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80. In which respiratory condition, you wil'fifidfthe paradoxical Téspimtion?

(A) Atelectesis (B) Respiratory distress
(C) Tension pneumotorax (D) Flail chest
Queston id . B0
80. ¥GHT Fr Sl &7 TEUfT F Wesifarasa g8 FeEn?
(A) weasfay (B) &ed Bew
(C) E30T THRRFH (D) TeIeT T
Question Id : B0
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10.

11.
12

13.

14.

15.

16.

17.

18.
19.

20. T A% et udea kRl &1 oroe F8 A ¥ W e H AR § a3 &R 36 ey sdad Sen, 3R sed sfoRE 38

RE A NN R T F e e smamaria2
YT H §F e F Ggel FIA ST of T gEaH # T 20 756 HR vF OMR IR UF i i aron § | 39aidd # wore & o §
ode e g & ofa e & 3R glRea R & B 3R g 3R OMR 3 93% & @1 756 30 e oY g & Ik 38 Rl o e &
&l 7T 9g ¥ | OMR 3 T U &R Thole (YR & ARG 7. wh-ael @ AfRw | BT oF v & Rfa oo ooy W 3nell &
ufdiews & &R goheic R OMR 3R 93 aaeldl ol IfgT | 9eT Ie g1 & ofe ne gvard v Meadh o Taer @ B e |

39 9fF 3N OMR 3R 95 & 39 30 I =R foraa 7 3 |

wergfEa 3 OMR 3t 93 & Tt ot gos & &1 ot w8 3R &1 &% |

NI 7 T IS YT 14T &, O W A & & i i T wier 39 ' W EoE @9 Ofer S8 Bﬁmwtlwﬁaaﬁ
Rl Toafa FRFY @ AT de TRT | 3 WA B T g v IReTTE, SR T s Sisdes, Fderdr TRETE, HHR
FE, TrEdiE e A F A 0F wES W A HAAE ¥ | T @9 W 3wl A oderdes & W@y & g A & s |

WA TR & TN ¥ F T gARTE W T ST OMR IR F AR, A9 A WK o A w7 W E | IR TR A F e R
TR W B A ¥ A oF F HF grere A g R v § ar Pdrger e 3R I e A oo E A g v A% Fw oo
FhoIT A, Al SN HR WG H i gl [hdl e | Ghoic o, forget & ol 8 9k & I o 9 9 ov 3pll T & aRomat
F I F TIU SR @ | N3l 30 At Y F WS IR AT 30w AT g1y F WS H 3 IR0 W, OMR IR
TaF W 3T aRiiRE @ie 3 & ik 3Ra e ov gaew o S |

gire-gier & oRidiers & 39fEufd F 0l FF W R Y W AR S AR s F Rum &

308d A Jaeet & I & B T OMR 30 # FRr o Wt 7 3anas fere @@ #ad 3R & & 34 AF | OMR 3W 95 # Fo o
ﬁmmmﬂtqﬂqwﬁaﬁ%ﬁnm.mﬁ,%mmfmmﬂmwﬁﬁmm#sﬂmqﬁmwm
Y ¥ | o7 i & 9T § 3RO A OMR 3R 096 A Uedl 03 @l |, @Y & e @9 W @ &fd @a W 3nwdt & e Ak
OMR 3R 93% a8 e a0 fow sl |

Il A A § S R ¥ e, Adsd B, 8 v & uf, dee, soedee O TOR g 49, 99, Ofne, s, andeR 3k
fovar g3 Poe & A o vl Qe A F & S0 N T & WS, W, FA F Teowt H T A BRI IET WO GG | 37 FEHT
& wy R o 3nlt A adenler 3 v A% R St | odenEE & diew R snall § O o Aesd wE o 0@ & S o e
oo I TR g 9 A § oo =% et & I Ioaue A sieer 3 oder F s aneffar e a0 & e qur sy &
St arelr GRETt # 3ofRra @ ¥ of sRewy e R S | OMR 3R 93 W e F v @, A, 2, 3R o w@d/aEeR iR F
It e TR 3 v & afa ager W 3Rl # OMR 3R 99 fRed & STwem 3 & OMR W 95 &1 Hedide g far S |
i@ ofer & e &7 wdandes & QU F B goRt F HARad, CCTV &, aidfRs 47 & 316 & [ue oaw suiefa &, B
e, AfAd R SR = g R afie ¥ afF Fa A 9 o1 5 W 0F 0T F W W A g 96T 7 & §F |

IET-Feg, F ST T el F de & RadT & @&y 7 5 o enft & wder w e A8 B sron |

oRdier garr saeaT ar 3R o 3l F & B gu i e el & R st | e ik 36 9 & s 3R
ggae 7 R o v A T are e oF 3l A olen A waw R gl a8 & sl ik ag st e # 9 gem |

9 OMR 3a¢-95% 1 ol wiehl 8, # wfa, 3 ofy @ sn=ef o} | & af¥ 3em @ & | OMR 30 99 &1 el wfedl & el &
HoRT-HolT Fell o ¢ | 3590 gdeT Fare gl W M TA IR 995 dia Siadl = 3T 0 e #:87 ofttews & &g & | 3eaef ofg e
oRNEE ZART 3HoRT FF T & & SN | 3wl v WY 3w ol qRaH R A S T E

THF A F IR s SR R Ui G A FT F 8 § | 98F =9 F 3/ & 90 OMR 3/ 9% & ¥ad 39 U& e & 99 & 3]
& % TR 3 B 3 TG € | TF HH AT g1 390y SHIC 91T Sdcl Ao O F a0 F Fl § | Il & SR & fow o e =
Wt A = ¥ | A Rl 3 & e & aivel @ e Re an A 38 360 A A6 R s |

qieT F wud H#R 313w dw B & e B o 3uel & g (St § Je & mﬂﬁaav?ﬁl

fr 8 36 & OMR 3% 93 @elr Bisst A 36ial g1 & | 4E F$ OMR 3 T3& @l W$ a1 af IR 30 W "FHE F6 F =g
YN FEER W & 3R 39 R e o &

HIUF FRATH & ST Soagl e Thield] TAtT & & e | 3R AT Tod 5T W HYH S99 37T 8§ T § |

AET 3egs Ea0T QEuEgsF SWOaF 7 SR § | 3RO F daad B eEa A8 g

HiFT & T I F B T A R w5 F 5 araeie @ 6 | 3 39 e & 30E e @ Fer a9 € 9 39 39 I =@
Siream 3R OH IR W Hediw= A e |

CORRECT METHOD / 71 #9781 WRONG METHIODS £ e 58

Oe0® OFOO AROG @O0 OO

Hiasq # o S aren TUENIT & 8% afT T o TaT ¥ | 36% Tatey TS FEaE A 56 5N oo R S & € |
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